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e (i) @ve or @ ¥ B @l 32 U A F SifErd €
(i) YD U P IJF G & G 3dfdd 2|
(i) U9 W1 1 W 5 AT 17 V 21 TP B YA A AY TG T B | TS T 1
b PT 8| TAD $T IR AN TH aTd H AT 20 A&l qF fadn S 2 |
(iv) TS HEAT 6 W 10 AT 22 W 26 TF & Y AYSRA B | FAD W 3 AP P
2| YD U BT IR AHIG: 60 TR A AF A BT AR |
(v) U9 G 11 | 13 OAT 27 ¥ 29 6 & U W AgSTRY B | U U 4 ISP
&1 2| G T BT SR WHNG: 70 TRl W AfF & g1 ARy |
(vi) 9T HET 14 § 16 9T 30 ¥ 32 TF B UH 4" IuT & | TAD U 6 D
FT 2| TIF U FT AR GHERGT: 100 Tl W e T B AR
(vi) ¥¥A @ SR GrT U9 wde & a1 g9d Ue &1 SR aAr wee fwilRa
qrEl qd ARl B O # & BT @18 |
(viii) U T A TR® AT R T T6 PIA SMSY, W WEH | A B 9 W
HqHY A T DY |
Note: (i)  All the 32 questions in both the sections — “A’ and ‘B’ are compulsory.
(i) Marks for questions are indicated against each question.
(ili) Question No. 1 to 5 and 17 to 21 are very short answer type questions carrying 1 mark
each. They are required to be answered in one sentence or within 20 words each.
(iv) Question No. 6 to 10 and 22 to 26 are short answer type questions carrying 3 marks
each. Answer to them should not normally exceed 60 words each.
(v) Question No. 11 to 13 and 27 to 29 are also short answer type questions carrying 4
marks each. Answer to them should not normally exceed 70 words each.
(vi) Question No. 14 to 16 and 30 to 32 are long answer type questions carrying 6 marks
each. Answer to them should not normally exceed 100 words each.
(vii) Answer should be brief and clear to the point and above word limit be adhered to as

far as possible.

(viii) Start from the first question and proceed to the last. Do not waste time ovér a question,

if you cannot solve it.
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s — ‘A’ (Section - A)

1. HERMED @ g B gy AR 1
Define scarcity of resources.

2. SPIE S<ed 9 @ afdurg @ 7 1
What is meant by consumer’s equilibrium ?

3. d%g @ AT DI A9 ghg Hd BT ® ? 1
When is the demand for a commodity said to be unit elastic ?

4. IR B q 71 AfAwTa & ? 1
What is production function ?

5. D faug @ar gar € 7 1
What is price-discrimination ?

6. fb aedi # ‘U IR HY IR U JfIaeell & daig GHT 8 7 3
In what sense the problem ‘how to produce’ is a central problem of an economy ?

7. AT 9% A wat fwar & 7 3
Why does demand curve slope downwards ?

8. WU ¥l iR e IRl § e AIRTQ | 3
Differentiate between substitutes and complementory goods.

9. Rt Fa1 ® ? W wify 38 &9 ywifag oxdt 2 2 3
What is supply ? How does the technological progress affect it ?

10. TG ufrfar @ d9 fewand qase | 3
Write three main features of monopolistic competition.

11, AT TR &1 el garzd | Eeid Sudifar favemer $1 gaRT wXe Suwred
G ot T R | 4
Write the meaning of marginal utility. State the conditions of consumer’s equilibrium using
marginal utility analysis.

12. UF RS & Uawd 9 397 W9 8 ? e i | 4
What is meant by returns to a factor ? Explain.

13. o I IR FHl aTa @AY gr1 w4 &1 |97 9 FuiRa gar 2 2 4
How does a firm’s equilibrium determined by the method of Total Revenue (TR) and Total
Cost (TC) ?

31A4T (OR)
freferRaa aiferer ¥ o aRadt @mma o siwa aRadt arma s @i |
From the following table calculate Total Variable Cost and Average Variable Cost.
IATeH BT (Output Units) : l 2 3 4
Y= AFTd (Marginal cost) : 70 60 62 72
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14, AT P BHT g F 7T T § ? 3 DY AT o £ 7 6
Define price elasticity of demand. How is it measured ?
15. m%msﬁv%maﬁmaﬁwﬁ%ﬁmaﬁmls
Exp]am the concepts of total revenue, average revenue and marginal revenue with example.
16. 01 WiRTeT & affa wH P wrasdal Bt 2, ok veteR ¥ @ fuRe |
W P | 8
“Under perfect competition, a firm is a Price-Taker and in monopoly, a Price-Maker.” Explain it.
AT (OR)
FATRIFR BT AW WL PR TAT JeARGR B J= vyt @ e
BT |
Clarify the meaning of Oligopoly and explain the characteristic features of Oligopoly.
Hvg — ‘@ (Section - B)
17. Ha1 & UrRIfAe &1d @ € ? 1
What are the primary functions of money ?
18, W@ fomtor 9§ @ emery & 7 1
What is meant by credit creation ?
19. 999 B9 a1 ¢ ° http:// www.ukboardonline.com 1
What is saving function ?
20. qof TR @Y gREIfa i 1
Define Full employment,
21. faceh fafrrg somR 69 oea € 2 1
What is foreign exchange market ?
22. @i sefermes ok wAfte srfore # @7 aR & ? 3
Distinguish between microeconomics and macroeconomics.
23. IS Y TR BN A H IR P | 3
Distinguish between national income and domestic income.
24. =1 % &= <1 @1 aRwifya g — 12+15=3
(i) IR P R b IS ST |
(ii) HRD AN W Hbd TSI IUIE |
(i) FRP ANH W Yg TSI IS |
Define any two of the following-
(i) Gross National Product at market price.
(i) Gross National Product at factor cost.
(iii) Net National Product at factor cost.
25. WUR Ao AR YIdH Egerq & afRaifa S| - | 3
Define Balance of trade and Balance of payment.
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26, TAF T @ @A ¥ Y9 qUT Ag¥ FEI (FeH) w1 A ¥ ? Iged #Aal
% 31 IEIERVT ST | : 3

What is meant by visible and invisible components of balance of payment account ? Give two
examples of invisible components.

27. THIfAD TAT JAEHIAD AT H IR da13q | 4

Differentiate between inflationary and deflationary gaps.
28, WHN Foic § o WAl vq golrg wiftral # o= AR 3R lF @
IETERYT T | 4

Distinguish between revenue receipts and capital receipts in government budget and give two
examples of each.

20, YUE HX AR U TR T & ? UIP B A IR ST | 4
What is direct tax and indirect tax ? Give two examples of each.
30. M B IgA (AH1G) FaTE Bl RGeS a9 | 6
Explain in detail the circular flow of income.
34T (OR)
f=iforaa sifest ¥ I J@ B 70T PTG —
1 T (F7s A)
@) ol smy 1,200
(i) ™ FON W @S 40
(i) IRENY YDA AT ¥ gdAE gwITer 40
(Gv) 99 favg | adu= TR - 12
v) BRI gerEe fumT @ wwfi qen semgla | affd s 16
(vi) BN fr & Rearea ey 8
Calculate National income from the following data —
Particulars T (in crore)
(i) Private income 1,200
(i1) Interest on National debt 40
(1i1) Current transfers of government administrative departments 40
(iv) Current transfers from rest of the world 12
v) Income from property and enterpreneurship accruing to government
administrative department 16
(vi) Operating surplus of government departmental organisations. 8
31. 39 §o grT 9@ FE=w & for sl wim areh fafdy oneTes Rl &
HE # Ioord HITY | 6

Describe in brief the various quantitative methods employed by a central bank to control credit.

32, Y gfd B WEREE AORURT B S@UROT Bl fIuRERT @1 I@uRom | few
YR B & ? Ty | 6

How is the classical concept of Aggregate supply is different from the Keynesian concept of
Aggregate supply ? Explain. :

K 3 ¢ ok e 3k
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